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A B2
B Wy Hos 2o
Cel: HE HE3 olXZe 125 (SH &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
CTTBAAIAE SK2S
51,870,000 *12% 6,225
oHESNY RAUBH(AMUA L SH)
33,3803 #2503 &+ 128 *25% 25,035
cHMAFNS WE)| RIS
250,000,000 *8% 20,000
SQIHY AIEE ZE|AIAE SAE
71,389,900 x8% 5,712
cHERHA HHl RAE=+
213,810,000 8% 17,105
oHHEALIX HHl RAE=
193,339, 0002 *8% 15,468
oHAUZE 4AAX| BHl FANE=
95,200,0002 *8% 7,616
oHAUZE [2ARX BHl RAE+
197,079,000 x8% 15,767
oT R HHOIEY AZEHI(13) B2
= 141,229,000 *10% 14,123
o MALEHI(PC,2LIE, Z2IH) RAE+
1,200,000 *300CH *6% 21,600
o¥WH ATERN 4Xl K& S FA2e|
12,5002 x2003|*4Z | 10,000
o2H SUOIEY AL ST
149,852,000 8% 11,989
oMSHFLE SEHZ0! AAE RS
37,500,000 *14% 5,250
oALIE M FXNES 400,000 x 12& 4,800
OXMItE EARSAIAE S22
17,820,000 x8% 1,426
oHEAAH MLUSHAH RRE
19,650, 0002 *8% 1,572
OBLSSIAAE RXE
35,557,270 x12% 4,267
oMt LEMMAEX RS
74,278,660 *8% 5,943
O ATESRN RrAAZ|AIAE
32,038,000 *11% 3,525
02 33244l 341,000 429,988 A\88,988
oSHIUIE AXX 2Y
50,0003 *209F A 1,000
oZEAAH 2BetRE 082
310,000,000& 310,000
odF FES4 FHl KAl 2
30,000,000 30,000
207 A OH | 36,000 18,000 18,000
02 AN E| 36,000 18,000 18,000
oSMESF FRIHLHI 16,000,000& 16,000
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2N SR
B Wy Hos 2o
el A HEF elmet 2= (EEEE))
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
oA T=EFE(RPA) =2
20,000,000& 20,000
308 AXIHHSOIA 106,987 105,661 1,326
13 SI2SUHUSE A NS AIEHI 106,987 105,661 1,326
o2LIgt SAAIAE X122
12,430,000& 12,430
oHFT)|IES2LANAE X2
38,697,000& 33,697
oEZRIIE=E BASAY
50,000,000& 50,000
o REDOIAIAE! SESF X2
5,860,000 5,860
SHEEEB S 3N 29 725,960 648,964 76,996
= 27,126
= 698,834
201 LBt AH| 675,960 638,964 36,996
& 27,126
= 648,834
02 S32ZH| 675,960 638,964 36,996
oMBOIES(EAEB0IE22)
500,000 *x23| &+ 122 12,000
CHHALY 0|B8RB(ROXLIN, A
A, 89) 420,000 453 &+ 12& 226,800
oUMH AR 2R 2(Te)
1,530,000& *13| & x12& 18,360
ocHANHIAY 0I1222(TeR)
1,000,000& *13| &x12& 12,000
oINS 0|82
36,000 x863| &1+ 12& 37,152
CHEMBSHR(ZORNBI|T, AL, S
o) 21,0002 453 & x12& 11,340
oHMHNSHLAMENE}) 0|22
13,0002 *1,100&| & =122 171,600
o= SUHENS AISR2
80,000& *x33| &1+ 12 2,880
o ADIESIQIE EHSEIPC S| AIER2
61,000& 673 &1+ 12& 49,044
oRAEE SUE Z2HY 322
2,800& %5503 &1+ 12& 18,480
oRNEE SAQI(2H, AIEA, SH)
13,000 503 & * 12& 7,800
CRBEA QEIHY sME
33,000 *x2743| Hx 128 108,504
& 27,126
= 81,378
401 A& HIZLECHH] 50,000 10,000 40,000
01 Al&H| 50,000 10,000 40,000
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2N SR
B Wy Hos 2o
Chel: HE L3 olZet 25 (CH9: &S1)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
SHEADE PC =1 72
1,200, 000& *50CH 60,000
oHEADE DLE Y
300,000 *30CH 9,000
cHHADE TRIE P
500,000 = 10CH 5,000
oHMEDE L= Y
1,500,000 *4CH 6,000
JHOIEE B L HEBHOE A|AE 2Y 474,252 131,969 342,283
201 LEr2AH| 164,934 130,769 34,165
01 AtR2t2lb| 144,934 30,000 114,934
oHl0lefA YAAIAE S
30,000& *1,0007H 30,000
cUBHHY A B4
151,064,000 *8% 12,086
CEYREH (L) ALY R4
170,494, 000& *8% 13,640
SHUUT A SXP2
181,940, 0002 *%% 16,375
o ERA E2MH AMAYE X2
96,559, 000& *8% 7,725
oPCHRIABEES AAE S22
77,255,200& *12% 9,271
oBIHIOIE S&E0r Ze|AIAE SXES
146, 246,000 *12% 17,550
CIICIEE HEI|FE2el AMAE RAE4
52,014,000& *12% 6,242
CIICIAE EHE AIAE SX S
41,400,000 *12% 4,968
oHBAIAE EIAMH AMAE S22
55,660,000 *11% 6,123
odgtsiy A B4 39,500, 000& *&% 3,160
oHBAIAHE HILHS2EIAAY SAEL
60,670,000 *x11% 6,674
osHsSMEIMAM 2o A2
31,700,000 *10% 3,170
o2t AIZHHAAE RXE4
49,500,000 x10% 4,950
SHOUBEES U HEHOH DS
3,000,000& 3,000
02 Bs24H| 20,000 100,769 A80,769
oMH ¥ UHERIA 2otAH| SXl2te]
20,000,000 20,000
202 04| 600 1,200 A600
01 2L Y| 600 1,200 A600
oHEH0 U HAUREHS 12
20,0002 x2% x 15 600
308 AXIHHSOIA 8,718 0 8,718
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2A:
PSR
ool

02 02 f
04 0% 40
0x 04
H HO
for for
o Ho
[H 02

ct

4
A

SA - ZE . BR() - HRAR - BES of v G o HIDE2
18 SI[2S0tet 4 A AS A 8,718 0 8,718
SIIZXNAFN AOIHES IS SSHSAI
8,718,000& 8,718
405 KHoHFSH| 300,000 300,000
01 ML ESFSHI 300,000 300,000
oL® ABBIAIAY DA
300,000,000 300,000
dOoH=S 24 E 28 4,200 1,200 3,000
201 2egh=3| 4,200 1,200 3,000
01 At2t2ltl 4,200 1,200 3,000
oSS0 =24 AlZet 208 AZAS
= 1,200,000 %15 1,200
oS 30018 * GIOIEDIEHEE XPIIStESAl
AH 2 3,000,000 3,000
g =235 018 &4 581,900 6,900 575,000
[ 460,000
[Ea 121,900
FUEES W= 6,900 6,900 0
201 2egh=3| 2,100 2,100
01 At2t2ltl 2,100 2,100
oFREESNSE N
10,000& %210 2,100
301 LEtE N = 4,800 4,800
14 DBt 2 a3 4,800 4,800
oFRAHES WKUA =F
80,0002 *60AI 2+ 4,800
A0LEYCX He € 25 575,000 0 575,000
[ 460,000
Ea 115,000
207 ARl 575,000 0 575,000
s 460,000
= 115,000
02 "A&bHEd] 575,000 0 575,000
oANIEEZA JHE & 25
575,000,000& 575,000
= 460,000
o 115,000
QIS 2tel 31,330 31,160 170
IEY 22| 31,330 31,160 170
= SHOIXl 22 & &8 31,330 31,160 170
201 Ler23| 6,330 6,160 170
01 At2teltl 4,330 4,160 170
oZHIOIXl SSL 2teIS Al A4l
800,000& *12 800
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2A:

e,

Ha: oIyl el
el QI 2t (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEHOIX BRI BHUS A 42
2,000,000& %12 2,000
SOIEUBRIYD 2R SAH|
9,000 x2& ~85& 1,530
02 s3=gHl 2,000 2,000 0
oZHI0IX Zhel AAZE
200,000& %12 200
SZHOIX =&l 2=
150,000& * 12 1,800
207 ARl 25,000 25,000
02 MAHHEH] 25,000 25,000
oHAOIE EHl ¥ SADHEHI
6,250,000 *42] 25,000
HY2LAH(SR) 63,249,511 60,855,891 2,393,620
= 52,430
Il 18,292
= 3,659
o 63,175,130
el 2E | 62,648,666 60,280,806 2,367,860
= 52,430
Jl 18,292
[ 3,659
T 62,574,285
ol 2HH|(ZZ) 62,481,778 60,183,670 2,328,108
101 @124H| 48,759,283 47,588,504 1,170,779
01 &= 41,085,130 40,063,837 991,293
=JllEa 29,642,822
-32 28,015,568
Z(HS) 8,865,610 «1& 122 106,388
FZ(SH3)
9,060,500 «1&~12& 108,728
= 8,589,203 x4H«12& 412,286
= 7,280,730 x31H 123 2,708,432
N 7,525,700 «3E ~ 122 270,926
= 4,484,960 «204H « 122 10,979,183
KIS A 3,213, 7603 x25E « 12 964,128
A AL 3,760,320« 1H* 122 45,124
= 3,228,530 x160H x 122 6,198,778
= 2,232,5103«110&8 122 2,946,914
= 1,895,070 144« 12& 3,274,681
-g2=g 2,034,067, 1403 x22| *40% 1,627,254
o X g 24| 1,525,320
-2 500,000« 1H =122 6,000
-Fae 450,000 x1E 128 5,400
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A B2
M S| (Z2D)
s lIEE2ghl EEREE
SA - ZE . BR() - HRAR - BES of v G o HIDE2
4= 400,0003 x4 *12& 19,200
Sz 2§
250,000 <38 122 114,000
62 (LHA T
185,000 x200& * 122 444,000
~KISAH(HATAL) 185,000& x26H 123 57,720
-2 180,000 x 1602 * 12 345,600
-8,92 175,0002 x254E = 122 533,400
SESR=Eaa] 1,149,120
LN 140,000 x684 % * 122 1,149,120
oAt 3,696,955
—AIEI2 R4S (HH) 877,602
55 15,0502 x4 *10A1 2t 123 7,229
o= 12,8442 %2002 *10AI 2+ 123 308,256
- NEAH21SE 014)
12, 11 +4Z*10A1 2t 128 5,814
- NEZAH21E S Olot)
11,3502 x26Z = 10AI 2+ 123 35,412
A 12,3802 3 *10AI 2t 122 4,457
= 11,6023 *160E x10Al 2t 12 222,759
= 10,4162 1102+ 10AI12++ 123 137,492
9= 9,860 x132Z*10AI1 2+ 123 196,183
-ARI2REH(ZS) 30,000,000& 30,000
—pRYRLY
7,103, 1602 4B+ 123 *%b 30,686
-Heze g
3,878,100 240« 12 +4 . 1% 457,927
-d2ag JHts 465,000
204 o1& 100,000& x180F «12& 216,000
15 0l4t ~ 204 O/t
80,0002 x60H « 12& 57,600
- 10& Ol& ~ 15 Olgt
60,0002 ~80& 122 57,600
511 0la ~ 10 Ot
50,0002 x103 12 61,800
-0 014 ~ 54 Qe
30,0003 »200F 123 72,000
2= It JRts 76,800
204 0l&h ~ 25 018t
10,0002 x40+ 122 4,800
- 258 Ol& 30,0003 x200& «12& 72,000
EE 380, 160
BN, 40,0002 x332H 123 159,360
D PIE 20,0002 x260H 122 62,400
= PE 60,0002 x70E 122 0,400
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2N B2
HH: HYSARH (SR
s lIEE2ghl EEREE
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- AU RHA Ol &
100,0002 x40 « 122 48,000
L JIEDHS 20, 0008 +250% 128 60,000
—S0IER4Y
1,913, 4003 x22H #65%+ 124 328,340
-DHTOY Hg
50,000& 15« 128 9,000
DleFEay 164,760
ISR 53 50,0002 12+ 128 7,200
JIEHZ 63 ~ 72
30,0003 *130E » 122 46,800
Pl =
20,0003 %130F « 122 31,200
JIEHB(NED)
60,0003 x4 * 128 2,880
IIEHB(XSA)
50,0003 265 128 15,600
JIEFELY M2 (JISAL
50,000 x4 =128 2,400
JIEFELY JRIZOIA 12)
30,0003 *123H+ 122 44,280
JIEHESY IHNBIIAL 23)
20,0003 »32H « 128 7,680
LY IB(7-622TR)
10,0002 «6F « 122 720
- 2FLY IHAS(0-82 2T )
20,0003 4 128 960
TAAD AL (3H014)
50,0002 6~ 12 3,600
- MAYBAEH(1H0/A3EH0(2H)
30,0003 4~ 128 1,440
R 36,000
H4, 2k, 5h4, MADIM2, €3
100,000 x30& « 12& 36,000
= ER= Pl 50,0008 1% 122 600
- g 80,0002 3% * 12 2,880
QIANRER DRAY
550,000& x1H 122 6,600
-9l 224Y 60,000
=t 50,0002 +602 128 36,000
g3 40,0002 +50F « 122 24,000
LA 200,0002! 102 * 128 24,000
-SH8=E 70,0003 x206H * 122 173,040
-QIRAARH 50,0003 *50H « 128 30,000
-AElExg Ry
70,0002 +76F 122 63,840
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SN B2
. #RSHAH|(E2W)
SERRIEESS(T L)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
-ASISXIAL HES AXIRHOHZ)
30,00024+602! * 122 21,600
-2 &g 81,840
R g=ESE= 50,000 =18+ 12& 10,800
oL 70,0003 *1H 123 840
gAAZ 250,000& x11H 123 33,000
EI=WIPN; 50,0002 12+ 122 7,200
- =2 AL 250,000& x2H x 123 6,000
48y U3 100,0002 x20E =123 24,000
- At==Ef 11,640
=1 80,0002 x3*12& 2,880
= 60,0002 3+ 12& 2,160
7= 0lot 50,0003 * 11+ 12& 6,600
-AMMERE 20,0003 x5H 123 1,200
—EIX(Zol - 2o+ 350,000,000 350,000
THUOE R ag
80,0002 14K+ 123 13,440
o HEFIH| 2,440,881
-2 BHE 2,034,067, 1403 22| *60% 2,440,881
oIS A
2,325,764,620 2 x6 2 +86%+1/302 400,032
ol tANZ 2,200,000,000& 2,200,000
02 JIEt& &2 1,395,691 1,546,596 A150,905
CARHIEHI SRR (12Y) 473,606
-JlE2= 409,252
-Oh= 49,679,000 *2Y 99,358
ct=a 43,662,000& 1 43,662
- 0t=2 33,279,000 «8Z 266,232
tESg 14,640
HH < Kt 40,0003 =8F 123 3,840
- XM XHA 20,0002 =8+ 12& 1,920
- EMAA 60,0003 x5+ 12& 3,600
TR OIAF DhaH
100,000& 2H 122 2,400
JIEPDS 20,0003 128+ 12& 2,880
-SHHZ A 122,500 x 11+ 122 16,170
s F= =] 20,304
t= 157, 5002 »2 % 12 3,780
= 153,000& 1H+ 122 1,836
o= 153,000 x8H » 12 14,688
SERIEER 13,240
JH= 10,0302 * 11Z *10AI 2+ 123] 13,240
oXHAAE(21Y) 869,255
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SN B2
M HZYRAZHI(ZRM)
el i Eg| (Cte: M
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-S5 2,430,000 x21E 12 612,360
- A G A 140,0003 <21+ 122 35,280
-Xg22d| 175,000 x21H =122 44,100
-EEF0HI 51,030,000 »60%*22] 61,236
-2 4|
51,080,000& *86%+1/30% 113 16,092
g2=g 2,430,000 =21 x40%*23] 40,824
-d2ad oRts 14,400
-20E ol& 100,000& x32* 123 3,600
- 169 ~ 204 Ojgt
80,0002 x3& *123] 2,880
104 ~ 151 OIg*
60,0002 x5 *123] 3,600
58 ~ 104 018+ 50,0002 *x38 x123] 1,800
-0d ~ 54 Dlgt 30,0003 *7& 122 2,520
-2 It JRks 480
254 ol& 30,0002 x1&x123] 360
204 0la ~ 25 Olgt
10,0003 *1E*123] 120
-tEsg 23,040
RN} 40,0002 x198 <122 9,120
I PE 20,0002 x8& 123 1,920
- SMAHA 60,0002 x5 122 3,600
- AU Ol &t
100,000& x5~ 123 6.000
=) 20,0002 x10E~12& 2,400
SNRIEE P
9,927 218 *10AI 2+ 123] 21,443
odRAE+E(5E) 52,830
-S2(98) 1,877,0002 x5 52 46,925
—FoZ Al 140, 00021452 +53| 3,500
NHEECES=
9,620 x5 10 Al 2H+52] 2,405
03 SRA(RIH )22+ 6,308,462 5,978,071 330,391
o HHARRAS(146Y) 6,308,462
=3 3,506,290
DIE(HEARE SR )
2,014, 2403« 127 B+ 128 3,069,702
-UARZ (= 28,3010 8)
1,970,230« 11E« 122 260,071
CHEZ (=AY
2,101,490 «7 &~ 12& 176,526
A e 292,191,440 »43| 1,168,766
-AXt=E 72,6303 145« 128 126,377
- NS A 140,000& 145 « 122 243,600
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2N SR
. #RSHAH|(E2W)
ohel: oI 23| (SH &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
-WEEXH| 60,0002 *145Y = 128 104,400
SR 60,0003 *10H *12& 7,200
98 Y oEagt
40,0003 *11Y~12& 5,280
0224 (2LIEHSY)
204,060 x 16 x12& 39,180
522G 113,9702 16 x 152 27,353
-H2E 596,200 145 x23| 172,898
-EsY 110,400
b < X+ 40,000 *130H x 12& 62,400
JIEHXE 8)
20,000& x200&H x 128 48,000
“YEEIM 439,230,96021+0.62 423 527,078
-AZtel2Ray
15,4963 x 145 x 10U« 122 269,631
M4 HA=RE2SE 13,722,495 12,565, 166 1,157,329
01 H22E= 10,650,483 9,616,222 1,034,261
oI RS 44,813,940,000& *%% 4,033,255
oBN= 44,813,940, 000& *10.595% 4,748,037
cEEagRg3
44,813,940, 000 *3.962% 1,775,529
ol EAREZ2
44,813,940 ,000& *0. 20%% 93,662
02 20AHUEEZ 1,790,258 1,719,985 70,273
cRIAATEI
43,664,820,000& *4. 1% 1,790,258
M ZB2R2X(RIH) 22X BEE2EEHZ S 1,281,754 1,228,959 52,795
oZDIAHULESHZ(ZRA)
7,287,202, 1602 *4 . 2% 306,063
o201 2B (22X
7,287,202,1603 *4 . 5% 327,925
SnEEEE GRS
7,287,202, 160& 2. 0% 145,745
oAATHHEE 2 (2R A!)
7,287,202,160& *1.4% 102,021
SEEEES EOEEY R
400,000,000& 400,000
olA29Y| 77,873 74,706 3,167
101 2124d| 77,873 74,706 3,167
01 B4 76,574 74,706 1,868
o N[22 R4E
11,602 x22H *25A| 2H+ 12 76,574
02 JIEtEE 4= 1,299 0 1,299
o AIIRI22H(HAF )
10,8213 x 1H*10A[ 2tx 128 1,299
=AShol BAHR ol4d| K& 52,430 52,430 0
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2A: SR
M HY2AHH(SRD)
chol: ol CCRE)
SA - B CRI(S]) - NISAY - BES A HIm=S2t
= 52,430
101 2124 52,430 52,430 0
= 52,430
01 B 52,430 52,430 0
oZAS =TS
52,430,000 52,430
= 52,430
KEASISS SHANBAEIAAMY FE 215 21| X 36,585 0 36,585
| 18,292
= 3,659
= 14,634
101 21 d| 36,585 0 36,585
| 18,292
& 3,659
= 14,634
02 JIEt& B4 36,585 0 36,585
oli2(BHA SHXIJAMUIAAIY)
36,585,000 36,585
| 18,292
T 3,659
= 14,634
[2Zl 600,845 575,085 25,760
J|123&H| 600,845 575,085 25,760
201 Let23H 36,540 33,760 2,780
01 At 2teld 36,540 33,760 2,780
o= AEX 25,0003 * 122t A% 12F 3,600
oIglHy 250,000 x50 12& 15,000
o d2tX 6,000
=X 20,0002 x52+12& 1,200
NIEION 16,0002 x252 12 4,800
SJIEt AIREE F
20,0003 x5E* 123 1,200
oMAIFA| A2 722 L ~4A2t2lh|
1,200,000 *4CH 4,800
oBI|&H
60,000& x2CH+12& 1,440
SESESY) 60,0003 «2CH* 123 1,440
ot B F& =4l
9,000& x10¥ 30! 2,700
oA =& 24
9,000& 2% 20 360
203 RF=&Y| 98,945 99,365 2420
01 D229 63,000 63,000 0
o HXIE 14,250,000 *4= | 57,000
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FA SR
M #RSHAH|(E2D)
&t JI=Z (CH9: &S1)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
oXdE=& 1,500,000& *4=2 21 6,000
02 IR R 30,845 31,205 A360
o=
(80,0002 1002 )+(60,0002 *2002 )+(45, 000
Hx241H) 30,845
04 PAE2EYERFAH 5,100 5,160 260
=301 =1t
(400,00024+(5,0002 x5H ) )+ 12& 5,100
204 HRs=HFH| 465,360 441,960 23,400
01 MHSH R 85,800 85,800 0
oz 650,000« 1H 122 7,800
onza 400, 000RIx 121+ 122 4,800
o= 350,000 x2& 128 8,400
oZAAHE 400,000 x1E~ 128 4,800
o= BHEAY
400,000 «1H*12& 4,800
oAGAHE 150,000& 3+ 12& 5,400
CUF (B2 EE)
100,000 x23E « 128 27,600
o5d 350,000& x1H 122 4,200
ol 150,000& x10E * 123 18,000
02 SEHREHI 379,560 356, 160 23,400
o= 239,160
-0l AEE 150,000 & x6H 122 10,800
-INEE 80,0002 4«12 3,840
-NSgE 150,000& x14F 123 25,200
-Segg 100,000& =2« 12& 2,400
-SRAHMEE 80,0008 x2& x 122 1,920
—olssts e
50,000 =2 * 122 1,200
-tere st (Hagd 28
50,0003 %323 <122 193,800
oEAHA 42,600
-tHelasy| 50,0002 *x71& 128 42,600
osgl|=dH 19,800
-tHel &S| 50,0002 *33E «12& 19,800
SHISAIE & 7,800
eS| 50,0002 *13F 122 7,800
ot2S&cIAIE A 12,000
-tHel &S| 50,0003 »20H « 122 12,000
WM SHIE 10,200
-CHel =] 50,0002 *17H 122 10,200
SIS, 8,400
-tHel &S| 50,0003 *14H 122 8,400
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Ofl &k2h
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39,600
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- ESS
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S - B

150,000 *22F « 122
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